[ Efficiency vs vertpos |

—_

20.45
(2]
>
>

Efficienq ——

N

€045
0.4F-
£0.35
0.3f
0.25
0.2F
0.15
0.1E
0.05

[
>
>

ettici

Ratio

0.5

7 RSSO F— I— S—

2

EI_TTOTTgTT

EltTT newstu
Fit"TT newStu 4
Fit"_TT"newstu
FIt_TT_newStu

0.5

Vs

[y

o

13
oS
S

| :
g4 - 428
-20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N

£
n

lency

Ratio

> F ? :
D-04'5:_".' """""""""" FoTTTTATTTe et
04 - beeeeinndinnns beneedns e
£0.355 koo boenedeeend e
O R Tt ST PR A
5] Eo : E
2 0.25F -k Feui b . T
B Eo T g d‘*f
0.2 -+ Z4HEE i =
E : #
TS R B SISTI LT R R
N ERI SR R RS A oo
O B RSt SITR SRS SRS SRS
P S U TN FUUTE DN U PO PO
LU M . H .
» g1
e |T T
BV R 0 0011 O ok L A N
0-15 -10 -5 0 5 10 15 20

0.5

=2

Sim. PV z (cm)



	Contents
	Page 1


